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1. Introduction
This paper propose a solution based on solution#19: EES determines the selected ACR scenario, to address the following open issues of KI#18.
Open issue:
-
How can the EEL identify linkages between the EASs? 

-
What are the impacts on EEL procedures due to linkage between the EASs e.g. when the linked EASs are served by the same EES and require ACR due to UE mobility?
2. Reason for Change
2.1 How can the EEL identify linkages between the EASs
EEL should identify the linked EAS(s) information according to the configuration of UE side (e.g. AC profile) provided by application developer.
2.2   How to select the same EES for the linked EAS
The impaction on EEL procedure including both intial EES/EAS seletion and ACR. For intial selection, ECS may provide the same EES for the linked EAS, if AC profile with linked EAS(s) information is provided from EEC. Or EEC may do the EES selection based on the EES profile and AC profile.
But for ACR, to make sure the linked EAS(s) are relocated to the same T-EES at the same time due to UE mobility, it should be made sure that ACR determination and T-EES/T-EAS selection for the linked EAS(s) should be aligned with each other. Due to the lack of information of linked EAS at each (Source) EAS, EAS detection and selection (i.e., the S-EAS decided ACR scenario as depicted in clause 8.8.2.4 of TS 23.558) may cause miaglined decision. For example, as shown in Fig 1, if two EASs (i.e., EAS#1 and EAS#2) are linked to serve the same AC, EAS#1 and EAS#2 may make different decisions about whether to trigger ACR, or which target EES should be selected. This is because ACR determination and T-EES/T-EAS selection are made by multiple entities with potential different policies.   
Therefore, to avoid misalignment of ACR determination and T-EES/T-EAS selection, the optimal solution is to always let a single entity (e.g. AC/EEC/EES) to do the decision. Thus, EAS detection and ACR detmination (i.e., the S-EAS decided ACR scenario) should not be selected for the linked EAS scenario, when the linked EASs need to be served by the same EES. 
This paper is proposed to update solution#19: EES determines the selected ACR scenario. The EES can make decisions on ACR scenarios to make sure the linked EAS(s) are relocated together to the same T-EES at the same time due to UE mobility.
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Fig 1 ACR triggered by multiple EASs
3. Proposal
It is proposed to agree the following changes to 3GPP TR 23.700-98 v0.6.0.
* * * First Change * * * *

7.0
Mapping of solutions to key issues

Table 7.0-1 Mapping of solutions to key issues
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* * * Next Change * * * *

7.X
Solution #X: EES determines the selected ACR scenario for linkage EAS(s) 
7.x.1
Architecture enhancements

None.
7.x.2
Solution description

7.x.2.1
General

The following solution corresponds to the key issue#18 on linkage between EASs and is based on solution#19. 
7.x.2.2
Procedure

This solution utilizes solution#19 with the enhancement considering linkage of EAS(s). In this solution, the indication information of linkage EAS scenario (e.g. linkage EAS indicator) and the linked EAS list is introduced is introduced in UE side (e.g. AC profile), to represent that the multiple EASs are linked to serve the same AC. The EES can make decisions on ACR scenarios to relocate the application contexts residing in multiple EASs together, avoiding the situation that the linked EAS(s) are relocated to the different T-EESs at the same time.
The additional mechanism to be supported by following steps of solution#19 are described below:
3.
The EAS discovery request may additionally include the indication information of linkage EASs (e.g., linakge indicator) and the linked EAS list in UE side (e.g. AC profile), to represent that AC needs to be served by multiple EASs and the application contexts need to be relocated together.
4.
 The EES obtains the linkage indication and the linked EAS list from UE side (e.g. AC profile). For the linkage EAS(s) scenario when the linked EASs need to be served by the same EES, the EES can determine the suitable ACR scenario considering the ACR scenarios supported by AC, EEC, EES and EAS. And the S-EAS decided ACR scenario as described in clause 8.8.2.4 of 3GPP TS 23.558 [x] can not be selected if S-EAS(s) do not have the ability to handle ACR for linkage scenario and EES has capability of ACR triggered for load balancing.

7.x.3
Solution evaluation

Editor's note:
Solution evaluation is FFS.
* * * End of Change * * * *

